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N.RB.: () Question No.1i is compuisory.

r (2)  Attempt any Three questions of the remaining questions.
() Assume suitable data wherever required.

I. @ Check whether the following signals are periodic or not, if periodic, f'ndvh
l the period. | S
(42 e57)
i (i) " (n) _ e.’( - H}i’ | At._
(i) x(t)=¢" < "
(b) Check whether the system in linear or not, stable or not; where y (n) is
the output, x (n) is the input of the system. X
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y@)=(n+1) e |

(c) Sketch the double side and single side spectrum ,qf:thc signal
x (n) =1 + cos (6nt + /3) + 8 sin (8=t - n/3).

; (a) Find the Laplace tranzform of the signal -~ . v

i x(t) = e; specify ROC. *'

' (¢) Find the Z - transform of the signal

C;_“n.
Snd
x(n): v cos(-—?)u(n); speg{fj/ ROC.
/ | O

2. (a) Letx (n)=u(n); check w sther the signal is power signal or not, find the ¢ 5
power and energy of the signal.
b) x() =3-Jtb |t<3 G
=0 /4 else where '
Sketch ) x{3-1)
(1) <x (3t + 2)
(i;'li}':\ Find energy of the signal x(¢).
(c) Find}\thé even and odd part of the signal
x(f)}=u (t+1)~-u(t-2).
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3. (a8) Find the Linear convelution of the signal 10
x(t) =1 it| £ 0.5
= () elsewhere 3
() =ut+1)-ult-1);sketch the output signal. . Y |
(b) Find whether the system given by the impulse response 1S causai or nPf, 5
stable or not. “. 2
h(n)=2"u(n+1) | ,7 ;
(¢) Findy (n) =x (n) * h (n) where > S
x(@)=[1,23,4,-1,6] h@=[1,2.-1,2]); ¥
1 T kA

4. (a) Find the exponential Fourier series of the signal x(t) as glien below. Sketch 8
the spectrum. W |

4 Y6 if X{5 “l jo + |
Fin t) if X J= ‘ s
@ Find S Ge) + 6w+ 8
<
5. (a) Find DTFT of the signal 6
R S
t:f-h 1 n '
Ju{ﬂ] = (-2-) u(n); Find magnitude and phase spectrum.
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6. () Find x (n) for all possible ROC if | =
20 t g
x(z) _ Z (.:. }é) : _';:h
(z=5)(2=3)(z- %) &
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(b) Find the output of the system if x (n) = [1, 2, % -111.4, 1 2] and 6

n[nj=[1,0,-1,1, 2] using linear convolution nroneri‘"cf Z - transform.
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(c) Prove the time shlﬁmg property of Z - transform f?
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